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Time : 2 Hours ‘ Maximum Marks : 35

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note :— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper. ‘
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There are four sections in the paper.
Attempt questions from each section as indicated.
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SECTION A (Wvg ‘&F’)

(Answer any one guestion.)

(0 e 537 @t Ffere 1)

1. (a) How do laws and theories differ in science ? (2)

(b) What is the relevance of theories in science ? Can

they ever be modified or replaced ? Justify your
answer. (3)

P.T.O.
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2. If you spend some time in a garden, what may be the
few things that you would come across.-Use your
knowledge of Core Natural Science to classify them
and discuss how that classification helps in developing
certain concepts. ' (5)
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SECTION B (@mve ‘@’)

(Answer any five questions.)

(13 dter yw) &t @orw 1)
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3. mPBs | Inthe given circuit diagram What

will happen if

(i) B, is fused (i) B, is fused @)
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- OR (Blind Students Only)

What is the role of_a metal rod attached on the roof ‘
of tall buildings ?
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4. A magnet A is heated and another magnet B is broken
into two pieces. What would be impact of heating
and breaking on the magnetic strengths of the two
magnets. (2
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5. Using a bowl of hot water, some butter and a knife,
how would you find out which spoon (metal, plastic
and wooden spoon) is the best conductor of heat.

(2)
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6. Calculate the densities of any one of the following :

- (1) a plank of wood used for a shelf that has volume
of 1000 cm’ and a mass of 650 gms.

(ii) the patrol in a car tank that has a volume of 30
litres and a mass of 24 kg. (2)
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7. Two mirrors A and A’ are inclined at right angle as
shown in Fig. 1. Draw the reflected ray from the
second mirror (A'). . )
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OR (For Blind Students Only)

5

Write down two uses of concave mirrors.
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8. Plot a distance-time graph of the following data :—

Time (mins)

0

5

10

15

20

25

30

Distance (meters)

0

12

18

25

35

35

50

OR (For Blind Students Only)

(2)

Explain the difference between distance and

displacement,

P.T.O.
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SECTION C (@ ') -

{Answer any five gquestions.)
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" 9. How can the temporary hardness of water be
removed ? (2)
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10. The following are pH of some solutions :—

A 11
B 1
cC 6
D 3
E 13
F 8

(a2) Which of the solutions are
(i} acidic ?

(i) alkaline ?
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(b) Fresh milk has a pH of 6. How do you think the
pH would change as it becomes sour ? Explain.
(1+1=2)
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11. In which case the displacement reaction will be
possible. Give reason for your answer.

(i) Zinc granules added to copper sulphate solution.

(ii) Copper turnings added to zinc suiphate solution.

2)
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P.T.O.
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12. When a piece of iron rusts, would you expect it to

weigh more or less than the original piece of iron ?

Explain.

(2)
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13. "Complete the following table '

Electronic

Element Atomic Valency
Numb'er Configuration
C 6 2,4 —
0 8 — —
Al 13 2,8 7 —
Cl 17 — —
. (2)
GG his ECCL| Harseral
qa« R

C 6 2,4 —
0 8 — —
Al 13 2,8, 3 —
Cl 17 . — —

14. What is the difference between 20 and 0,7 (2

20@1‘11021‘1'@34%«%?
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15.

SECTION D (@mvs ‘=’)

{Answer any five questions.}

(¢ @ dter g9 B 1)

Name the respiratory organs in the following -

Fish, Grasshopper, Earthworm, Elephant 2)
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16.

17.

Draw a diagram to distinguish between plant cell and
animal cell. (2)
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Give an example each of the following modes of
reproduction :— ‘

(a) Binary fission

{b) Regeneration

(c) External fertilization

(d) Internal fertilization (2)
W 3 ki alw § @ e w1 v e dfg
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P.T.O.
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18. Suggest an experiment to show that plants respond to
light stimulus i.e. photrophic movement. (2)
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19. What are the components of human blood ? )
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20. Explain any two of the follo.wing with examples :
(a) Saprophytes
(b) Symbiosis

(c) Parasites o (2)
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